PR K5 B T i e B e — L V6t 8 o o

BERARRRIRE &= 1983044400
4. 7 FE: 70 RLA: Mm% =B WM AL B85
MR- 2t FElES: e S5 49 B S 20257102M1
1118 44 75 M f _ BiA A
) | FHE | HEZ] %) | B8
J5 44 48 il 0.06 |£0.01 :
JE 06 R 0.54 | +0.33]0.50
| TR 1.47 [£0.60] 0. 50
7)) 6.39 [£2.045.00
T e % 7.80 | £1.97]10.50
Eall g [ATRE 23.72 [ £3.50[ 7. 50
N 9.44 [+£2.92[7.00
B - %) 0.38 [*£0.23[0.50
W 4 0.49 [£0.32[0.50
o R 1.25 [ £0. 61
= N 0.86 | £0.61|1.00
. d 4 0.02 |£0.05
. We 4 0.06 |£0.07
T o [MRE 0.06 | £0.09
7 0.03 |£0.05
o | BRI 0.57 |£0.30[ 050 | .,
by i@b’ﬂ:i’ﬂwﬂ 092 [xo0. 41 Loo | HOf%
: ikl 7.41 [£1.91]6.00 . .
B (BHTER 1075 [£2. 361150 | L WM, WA, REHT.
Z 117
- Eiggiﬁﬁg 2. B BT,
At
B % %) 41 71 g o \ . .y N
5EnE T 3 RRMAERE, b RmnE S,
:H Jﬁﬂﬁmlﬂé’mﬂﬂ 0.05 |+0.09 ﬁﬂﬁﬁ%&U\Tﬁn‘%‘cﬁT}rﬂEﬂJﬁ@é,
T G E AR 0.47 |+0.84 e .
BN C A 2278 |£7.04[10. 00 | 4 ARBEELUEIR, LIGAHARIEE R
=R B F, EEXZERNHERF.
NG G . +0. . N . .
i RS XL 5. I ELEML 546, 5%, LURHUN R A
# %ﬁ?ﬁ%% 300 [£0.88/0.50 | Lo
% | ERFEAR 0.004 | +0.02 N
| [REZHR 071 [x0.42[ o0 | WEUF, M/MREGR. #AES S L.
1 [HAAR 0.16 | F0.21
M HAE TR 0.03 [£0.09
4l 2 ZE T8 7 0.11 |£0.01
- 7r Ve 7 0.53 [+0.52
59 ANE A 0.55 |[£0.59
= FRIGESR & 0-3
B HiHEEZ AR 0-10
4 Ly RUSE A 10-30 105
hﬂ FRYEEZMR 40-70 7
BENEZAR 0-30
4 | RBC X102/ |[HGB g/l &=
= |PLT X109/LIRC %| . \
G X109/L MEMAE 546, 5%, PARRE/NHREME A E .,
¢ [NAPFA S A : 1164 |POX:
2 INAPPATEZE . 56% PAS:
R E TR 54% NAE:
SERET NS ++ NAE-Naf:
EE- St 8 0 BEAE%. 200
BEE: ... R/ ERHEY: 2025-02-21 R HI). 2025-02-24
B RERE AR S TR,



